AN INTEGRATED OTSM-TRIZ ENGLISH COURSE
- an excerpt from The Catcher in the Rye by J D Salinger

Possible Tasks to the Text

There are two types of the narrator’s possible behaviour described in the excerpt if
he had found out who’d stolen his gloves — his usual behaviour (let’s call it —
model 1) and how he would like to behave (let’s call it model 2).

Make two lists of possible causes for both models.

Which of them could be underlying causes?

. Consider model 1 of the narrator’s behaviour.

What would be good if he behaved like this? (i.e. what would be desirable
positive consequences of such behaviour?)
What would be bad if he behaved like this? (i.e. what would be undesirable
negative consequences of such behaviour?)

. Consider model 2 of the narrator’s behaviour.

What would be good if he behaved like this? (i.e. what would be desirable
positive consequences of such behaviour?)
What would be bad if he behaved like this? (i.e. what would be undesirable
negative consequences of such behaviour?)

Try to formulate the ideal variant of the narrator’s behaviour and the thief’s
reactions in the given situation — model 3.

Remember that model 3 must provide desirable positive consequences from
models 1 & 2.

. Find one or more situations in your life when you ‘wouldn’t have the guts’ to do
something.

Give a brief description of the situation(s).

Describe how you imagine your usual behaviour (model 1) and mention its
desirable positive consequences and undesirable negative ones.

Describe how you would like to behave (model 2) and mention its desirable
positive consequences and undesirable negative ones.

Describe the ideal variant of the behaviour and reactions of others in the given
situation (model 3) — the one providing desirable positive consequences from
models 1 & 2.
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AN INTEGRATED OTSM-TRIZ ENGLISH COURSE
- an excerpt from The Catcher in the Rye by J D Salinger

Translation Assessment

Compare the original text with its translation into Russian.

Find some places in the translation you find successful and those you find rather weak.

Is it possible to say that successful places are good solutions of some problems (try to formulate them)
and weak places are bad solutions of certain problems? (try to formulate these ones, too)

XpaOpocTu y MeHsI He XBaTHJI0 Obl

Henoxoxe Ob110, 4TO HeaBHO 11en cHer. Ha TpoTyapax ero coBcem He Obiio. Ho
XOJIOZ CTOSUT XKYTKHUH, U sI BBITAIIMJI CBOIO OXOTHUYBIO IIANKY U3 KapMaHa M HaJlel ee
— MHe ObLT0 0e3pa3nyHo, KaKoi y MeHs BH. S Jake HAYIIHUKU OMyCTHI. DX, 3HAJ
OBl 51, KTO cTan(i Mou nepuatkul B [Iaucu! YV mens 310poBo Mep3nu pyku. Bopouewm,
naxxe ecnd O s 3HaI, s Obl Bce paBHO HUYEro He caenan. Sl mo mpupone Tpyc.
Hanpumep, ecnmm 6 s y3uan B [IpHCH, KTO yKpanm MOW Tiepyarku, s Obl, HaBEpHO,
mormea K 3TOMYy XKynuky W ckazan: «Hy-ka, ormail mMoum mepuaTku!» A KYIHK,
KOTOPBIH WX CTallWi, HaBepHO, CKa3zajd Obl caMbIM HEBUHHBIM TosiocoM: «Kaxue
nepuatku?» Toraa s, HaBepHO, OTKPBLI ObI €ro mKad U Hallel TaM TIe-HUOyAb CBOU
nepyatkd. OHU, HABEpHO, ObUIM OBl CHPATAHBI B €ro MOTaHBIX ranomax. S Ol ux
BBIHYJ M TIOKa3aj ATOMY THIY U ckazai: «MoxkeT ObITh 3TO T B 0 M mepyaTku?» A
3TOT KYJIUK, HABEPHO, PUTBOPHJIICS OBl ATAKMM HEBUHHBIM MIIAJICHIIEM U CcKazal: «B
KU3HU HE BUAEN 3TuX mnepuaTok. Ecnu oHu TBouW, Oepu uX, MOXalyiicTa, Ha 4epTa
OHHU MHE:»

A s, HaBepHO, CTOsUT OBl IEpe]] HUM MUHYT Is1Th. U iepuaTku Jaeprxan Obl B pyKax,
a caM 4YyBCTBOBaJI ObI — HAJ0 €My JaTh MO MOpAe, pa30WTh eMy MOpIy, ¥ Bce. A
XpabpocTu y MeHsl He XBaTHJIO Obl. S ObI CTOSI W Jenain 370€ JUo. MoXeT ObITh, s
CKasaJsl Obl eMy YTO-HUOY/Ib Y’KaCHO OOMTHOE — 3TO BMECTO TOTO, YTOOBI pa3OUTh eMy
Mopay. Ho Bo3MokHO, uTO, eciiu O 51 eMy cKa3all 4YTo-HUOyAb OOMIHOE, OH ObI BCTAl,
nogomen ko MHe u ckazan: «Cnymaid, Kondwuna, Tbl, KaxeTcs, Ha3Bal MEHS
xynukom?» U BMmecTo Toro utoObl cka3aTh: «Jla, Ha3Bas, Tps3Has Thl CKOTHHA,
Mep3aBel!» — g Obl, HaBEpPHO, CKazall: «S 3HaK TOJIBKO, YTO ATH YEPTOBBI MEPUYATKU
OKa3aJuch B TBOUX rajomax!» U TyT oH cpa3y moHsI Obl, 4TO 5 ero OUTh HE CTaHy, H,
HaBepHO, cka3zan Obl: «Ciymiail, 1aBail HAUUCTOTY: Thl MEHSI 003bIBaelllb BOPOM, /1a7»
U s emy, HaBepHO, OTBeTHI Obl: «HUKTO HUKOTO BOPOM HE 003bIBaj. 3HAIO TOJBKO,
YTO MOM IEePUATKU OKA3aJUCh B TBOMX IOTAHBIX rayomax». M Tak 10 66CKOHEYHOCTH.

B koHIIe KOHIIOB s, HABEPHO, BhIIIET Obl M3 €r0 KOMHATHI M Jake HE Jai Obl eMy
o MopzAe. A TOTOM s, HaBEpPHO, Momiea Obl B YOOpPHYIO, BBIKYpHJI Obl Tailkom
CUTapeTy U Jiejan Obl epe]] 3epKajioM CBUPETIOE JIULIO.

(ITepeBon ¢ anrnmiickoro P.PaiiT-KoBanesoif)
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